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EXERCISE 1: (Pointers)

What do we get on the console after executing the following codes? zal,di sia (s,a3 13k

main () main ()

{ int *p=new int (61); { int a=4,t[10]={2,5,1,4,3,6,7,9,8,11};
cout<<*p<<endl; int *pl=t, *p2= &a;

delete p; cout <<*pl<<endl;

p=new int[5]; cout <<*pl+*p2<<endl;

for (int i=0;1<5;i++)cin>>p[i]; p2=pl; pl+=5;

for (int i=0;1<5;i++)cout<<p[i]; cout <<*pl+10<<endl;

delete []p; cout <<pl-p2<<endl;

} }

EXERCISE 2: (Linked lists)

Following the method used in the lesson for creating the type for a simple linked list and for writing the Head
Creation function, do the same for the doubly linked list.
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EXERCISE 3: (Linked lists)
Create two lists containing three items each to be filled-in by the user and then displayed on the screen.
concatenate the second list at the end of the first.
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EXERCISE 4: (Stacks & Queues)
The function STUTTER receives a list or a queue and duplicate each node.
Example: 1,2,3---->1,1,2,2,3,3
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Write STUTTER with making use of the functions ENQUEUE and DEQUEUE _, aslaz.d LS -
EXERCISE 35: (Stacks & Queues)
Write the function MIRROR that duplicate and reverse the integer elements of a Queue.
Example: 1,2,3--->1,2,3,3,2,1. uSlall sles¥l § Lasalis dmpmis sd 93 salls juolic geuds Als (ST
EXERCISE 6: (Functions & recursion)

An array of size n is used to represent a binary number of n bits. co ¢ (e 0556 Gl sae Gzl ¢ dsb Youz Jeaiud

-Implement the recursive function Increment that takes the array as parameter and returns the binary
number incremented by 1.clslaed! po Jsazmdl L ey o ol T Caas Q) duaa LA Al ST

-Is this a tail recursion or not? ¥ i asle a4l Ja
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EXERCISE 1:
Write and execute the following C++ code Jass _asi
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#include<iostream>
using namespace std;
void functionl ()

{

CoUL<<C Mk hkkkkkkkkkkkkkkkkxx*k*x"<<andl;
cout<<"Welcome in this program"<<endl;
cout<<"***********************"<<endl;
return;

}

int square (int x)

{
return x*x;

}

main ()

{

functionl () ;

int a;

cout<<"please enter a value'"<<endl;

cin>>a;

cout<<square (a) *square (a) ;

}

o Learn the differences in this code between C &
C++.
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o Rewrite the same code using C.
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EXERCISE 2:
The same question as before z,Lull Cgllall uas

#include<iostream>
using namespace std;
main ()
{
int* p=new int[10];
if (p!=NULL)
{
for (int 1=0;1<10;i++)
cin>>* (p+i) ;
for (int i=0;1i<10;i++)
cout<<* (p+i)<<endl;
}
else
cout<<"no sufficient memory"<<endl;
delete []p:;
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EXERCISE 3:
Write and execute the following C++ code iag S|
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#include<iostream>
using namespace std;
void example (int *a,int *b)
{
*a=10;
*b=50;
cout<<"in the function:"<<endl;
cout<<*a<<"\n"<<*b<<endl;
}
main ()
{
int a,b;
cout<<"\nplease enter the first value";
cin>>a;
cout<<"\nplease enter the second value";
cin>>b;
example (&a, &b) ;
cout<<"in the main"<<endl;
cout<<a<<"\n"<<b<<endl;
}

o the previous code uses the principle of passing
parameters by address, use another method (seen
during the course) to achieve the same result.

o now, modify the code to perform a pass by value.
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EXERCISE 4:

Write the following C++ code 5! 1ia (ST
#include<iostream>
using namespace std;
struct node
{
int data;
node *next;
}i
main ()
{
node *head=new node;
head->next=NULL;
head->data=x;

o Add one node this to linked list aulalluslylymic casl
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